

On Huygen's Trigonometric Inequality

József Sándor and Mihály Bencze
Babes-Bolyai University of Cluj, Romania
Str. Harmanului 6, 505600 Sacele, Romania

1. Introduction

Let $x \in (0, \frac{\pi}{2})$. Then it is well known that $\sin x < x < \operatorname{tg}x$, used for the first time by Archimede in the numerical approximation of π . Nicolaus de Cusa (1401-1464), by using certain geometrical constructions, discovered the relation:

$$(1) \quad \frac{3 \sin x}{2 + \cos x} < x$$

In 1631, Willebrod Snellius (1581-1626), in his book entitled "Cyclometricus" found a proof for (1), and for the following inequality:

$$(2) \quad 2 \sin x + \operatorname{tg}x > 3x$$

The proofs given by Snellius were quite obscure, but fortunately these formulae are true. The first scientist who found an acceptable (geometrical) proof for (1) and (2), after 33 years from the publication of Snellius' book, was Christian Huygens (1629-1695). Huygens, in his book "De circuli magnitudine inventa" used (1) and (2) in the approximation of values of π . For the history of such themes, connected also to the fabulous history of the number π , see the References (especially [1-4]).

In what follows, we will call (1) (like e.g. in [1]) as Cusa's inequality, while (2) as the Huygen's inequality. In paper [5] the first author proved the following generalization of Cusa's inequality: Let $a, b, c > 0$ such that $2b \leq c \leq a + b$. Then, for any $x \in (0, \frac{\pi}{2})$ one has

$$(3) \quad \frac{c \sin x}{a + b \cos x} < x$$

Particularly, for $c = 3, a = 2, b = 1$ we reobtain (1).

In problem 2585 of Crux Mathematicorum, V.N. Murty proposed the inequality:

$$(4) \quad \operatorname{tg}x + \sin x > 2x$$

We note that Huygen's inequality (2) is stronger than (4), as

$$(5) \quad \frac{\operatorname{tg}x + \sin x}{2} > \frac{2 \sin x + \operatorname{tg}x}{3} > x$$

where the first relation is equivalent to $\operatorname{tg}x > \sin x$.

The aim of this note is to offer certain generalizations to Huygens-like inequalities.

2. Main Result

First we state the following:

Theorem 1. Let $a, b, c > 0$. The inequality

$$(6) \quad a \sin x + b \operatorname{tg} x \geq c \cdot \operatorname{tg} \frac{x}{2}, x \in \left(0, \frac{\pi}{2}\right)$$

holds true only in the following cases:

$$(7) \quad \begin{array}{l} \text{i). } \Delta = (b-a)^2 - 4k(a+b-k) \leq 0, \text{ where } k = \frac{c}{2}; \\ \text{ii). } \Delta > 0, \text{ and } a-b \geq 2k = c; \\ \text{iii). } \Delta > 0, \text{ and } a-b \leq 0 \end{array}$$

Proof. Put $\operatorname{tg} \frac{x}{2} = t$, and remark that for $x \in (0, \frac{\pi}{2})$ one has $t \in (0, 1)$. By $\sin x = 2t/(1+t^2)$, $\operatorname{tg} x = 2t/(1-t^2)$, after elementary transformation, (6) becomes

$$(0.1) \quad f(u) = ku^2 + u(b-a) + a+b-k \geq 0 \text{ for all } u \in (0, 1),$$

where $k = \frac{c}{2}$ and $u = t^2 \in (0, 1)$.

The discriminant of $f(u) = 0$ is $\Delta = (b-a)^2 - 4k(a+b-k)$. Since $k > 0$, if $\Delta \leq 0$, then it is well known that $f(u) \geq 0$ for all real u , particularly for $u \in (0, 1)$. Thus i). follows:

Now, if $\Delta > 0$, the roots of $f(u) = 0$ are $u_1 = \frac{a-b-\sqrt{\Delta}}{2k}$, $u_2 = \frac{a-b+\sqrt{\Delta}}{2k}$. For $a-b > 0$ we have $0 < u_1 < u_2$. Now, $f(1) = 2b > 0$, and we must have $f(0) = a+b-k \geq 0$. Clearly, we cannot have $u_1 \leq 1$, since f being continuous, f would change signs on $(0, 1)$. The inequality $u_1 > 1$ is equivalent to $a-b-2k > \sqrt{\Delta}$. This is impossible if $a-b-2k < 0$, but for $a-b-2k \geq 0$, it becomes $(a-b-2k)^2 \geq \Delta$, so $(a-b)^2 - 4k(a-b) + 4k^2 \geq (a-b)^2 - 4k(a+b-k)$, i.e. $8kb > 0$, which is true. Therefore, ii). follows.

In case $a-b \leq 0$, one has $u_1 < u_2 < 0$, so $f(u) > 0$ for any $u \in (0, 1)$.

Corollary. If one of i) – iii) of (7) is satisfied, then

$$(9) \quad a \sin x + b \operatorname{tg} x > \frac{c}{2}x, \text{ for all } x \in \left(0, \frac{\pi}{2}\right)$$

Proof. By $\operatorname{tg} \frac{x}{2} > \frac{x}{2}$, (6) implies relation (9).

Examples. 1). Let $a = b = 1, c = 4$, in (6). Since i). is true, we get:
(10).

$$(10) \quad \sin x + \operatorname{tg} x \geq 4 \operatorname{tg} \frac{x}{2} > 2x$$

This improves also (4).

2). Let $a = \frac{1}{4}, b = \frac{3}{4}, c = 2$. Then iii). applies, and one gets:

$$(11) \quad \sin x + 3 \operatorname{tg} x \geq 8 \operatorname{tg} \frac{x}{2} > 4x$$

Theorem 2. Let $a, b > 0$, and put $A = \frac{b+\sqrt{b^2+4ab}}{2a}$.

If $\cos x \leq A$, $x \in [0, \frac{\pi}{2})$, then

$$(12) \quad a \sin x + b \operatorname{tg} x \geq (a+b)x$$

If $A \leq 1$ and $\cos x \geq A$, for $x \in [0, \frac{\pi}{2})$, then

$$(13) \quad a \sin x + b \operatorname{tg} x \leq (a + b)x$$

Proof. Let $f(x) = a \sin x + b \operatorname{tg} x - (a + b)x$, $x \in [0, \frac{\pi}{2})$. Since the derivative of f is $f'(x) = \frac{1}{\cos^2 x} [a \cos^3 x - (a + b) \cos^2 x + b] = g(t)/t^2$, where $t = \cos x \in (0, 1]$ and $g(t) = at^3 - (a + b)t^2 + b$, we have to study the signs of $f'(x)$. By $g(t) = at^3 - at^2 - bt^2 + b = at^2(t - 1) - b(t^2 - 1) = (t - 1)(at^2 - bt - b)$ and remarking that $at^2 - bt - b = 0$ has as roots $t_1 = \frac{b - \sqrt{b^2 + 4ab}}{2a} < 0$ and $t_2 = A$, we can write $g(t) = a(t - t_1)(t - A) \leq 0$ if $t = \cos x \leq A$. By $t - 1 \leq 0$, it follows $g(t) \geq 0$, so f is an increasing function on $[0, \frac{\pi}{2})$. Clearly, if $\cos x < A$ and $t < 1$ (i.e. $x \in (0, \frac{\pi}{2})$), then f is strictly increasing. This implies $f(x) \geq f(0) = 0$, so relation (12) follows. A similar proof applies to (13), and we omit the details.

Examples. 1). Let $a = 2, b = 1$. Then $A = 1$, so $\cos x < A$ in $(0, \frac{\pi}{2})$. Then (12) reduces to Huygen's inequality (2).

2). Put $a = 6, b = 1$. Then $A = \frac{1}{2}$. The inequality $\cos x > \frac{1}{2}$ is true for $x \in (0, \frac{\pi}{3})$. By relation (13) we get

$$(14) \quad 6 \sin x + \operatorname{tg} x < 7x \text{ for } x \in (0, \frac{\pi}{3})$$

Thus (2) and (14) can be written in a single line as

$$(15) \quad \frac{6 \sin x + \operatorname{tg} x}{7} < x < \frac{2 \sin x + \operatorname{tg} x}{3}, x \in (0, \frac{\pi}{3})$$

Inequality (14) is reversed for $x \in (\frac{\pi}{3}, \frac{\pi}{2})$.

Remarks.

(1) More generally, an inequality of type

$$(16) \quad a \sin x + b \operatorname{tg} x \geq cx$$

can be studied. In this case, by letting $f(x) = a \sin x + b \operatorname{tg} x - cx$, one obtains $f'(x) = g(t)/t^2$, where $g(t) = at^3 - ct^2 + b$. Since $g'(t) = t(3at - 2c)$, the study of sign changes of g depends on $g(\frac{2c}{3a}) = (27a^2b - 4c^3)/27a^2$. But then there will be more cases, with much more complicated (and not so nice) results than Theorem 2.

(2) Other geometric inequalities (like Jordan's, Redheffer's, Kober's, etc.) can be found in [6] and [7]. See also [8] (where there are not included Cusa or Huygens type inequalities).

(3) For trigonometric inequalities, based on geometrical constructions, see [6] (one of them included also in [9]), and on convexity methods, see [7]. For other geometric inequalities see [10].

(4) If $a, b > 0$ and $x \in (0, \frac{\pi}{2})$, then $a^2 \operatorname{tg} x + b^2 \sin x > 2abx$.

Proof. We take $f(x) = a^2tgx + b^2 \sin x - 2abx$, because $f'(x) > \left(\frac{a}{\cos x} - b \cos x\right)^2 \geq 0$, and $f(0) = 0$, so f is increasing and because is continuous, therefore $f(x) > f(0) = 0$, for all $x \in \left(0, \frac{\pi}{2}\right)$.

(5) Using the method from 4). for all $a, b > 0$ and $x \in \left(0, \frac{\pi}{2}\right)$, holds

$$a^2tgx + b^2 \left(\frac{x}{2} + \frac{\sin 2x}{4}\right) > 2abx.$$

(6) We propose to study the following inequality

$$a^2tgx + \frac{b^2x}{2} > 2ab \ln \left(\frac{1}{\cos x}\right) + \frac{b^2 \sin 2x}{4},$$

for all $a, b > 0$ and $x \in \left(0, \frac{\pi}{2}\right)$.

(7) If $x \in \left(0, \frac{\pi}{2}\right)$, then $\frac{\sin x}{x} > \sqrt{\cos x}$.

Proof. If $f(x) = \ln(tgx) + \ln(\sin x) - 2 \ln x$, then

$$\begin{aligned} f'(x) &= \frac{x(1 + \cos^2 x) - 2 \sin x \cos x}{\sin x \cos x} > \frac{2x \cos x - 2 \sin x \cos x}{\sin x \cos x} \\ &= \frac{2 \cos x(x - \sin x)}{\sin x \cos x} > 0 \end{aligned}$$

etc.

(8) We propose to prove that for all $x \in \left(0, \frac{\pi}{2}\right)$ and all $\alpha > 0$ holds $\left(\frac{\sin x}{x}\right)^\alpha > \frac{\cos^\alpha x}{1 + \cos^\alpha x}$.

(9) We propose to study the following inequality $a(\sin x)^\alpha + b(tgx)^\beta > cx^\gamma$, where $a, b, c, \alpha, \beta, \gamma \in R$ and $x \in \left(0, \frac{\pi}{2}\right)$.

References.

- [1]. F.T. Campan: The story of number π , Ed. Albatros, (Romania), 1977.
- [2]. A.P. Iuskevici, History of mathematics in 16th and 16th centuries, Moskva, 1961.
- [3]. F. Cajori: A history of mathematics, 2nd ed., New York, 1929.
- [4]. Ch. Huygen's, Oeuvres completes, publiées par la Société hollandaise des science, Haga, 1888-1940 (20 volumes).
- [5]. József Sándor: On some trigonometric inequalities, Erdelyi Mat. Lapok, 3(2002), No. 2, pp. 13-14.
- [6]. József Sándor: Geometric inequalities (Hungarian), Ed. Dacia, CLuj, 1988.
- [7]. József Sándor: On certain trigonometric inequalities, Octagon Mathematical Magazine, Vol. 9, No. 1A, April 2000, pp. 331-336.
- [8]. D.S. Mitrinović: Analytic inequalities, Springer Verlag, 1970.
- [9]. P.N. de Souza and J.-N. Silva: Berkley Problems in Mathematics, Third ed., 2004, Springer Verlag.
- [10]. József Sándor: Geometric theorems, diophantine equations, and arithmetic functions, American Research Press, Rehoboth, USA, 2002.
- [11]. Mihály Bencze: About Jordan's Inequality, Octagon Mathematical Magazine, Vol. 12, No. 2, October 2004, pp. 563-567.
- [12]. Collection Octagon Mathematical Magazine (1993-2005).